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1. Choose the correct answer for the following
questions : 1x5=5

oo Tl eWEIRE 9T Tl AR Tieal

(a) What was the basis of the second
generation computers ?

ROl (SR ISR WM &

wifRe ¢
(i) Vacuum-tube
CoFAN oo

Contd.



(i) Transistor
G2

(iii) Integrated circuit
BCUCATS BIfFE

(iv) VLSIC
fS, @7, ug, =3, &

(b) What is the function used to add the
range from cell Al to A10 in MS Excel ?

MS Excel®s (&1 Al 291 A10CH CF@ 96l
% IR [T FIP/A JIYI I ] 2

) = ADD (Al, Al0)
i) = ADD (Al: A10)
(i) = SUM (Al, A10)
iv) = SUM (Al : Al0)

(c) The operating system that manages
more than one CPU is called

Qoretd @R CPUT AT I FAIROR f?rc%w
et 2 |

(i) Multiprocessing operating system
ToetefR SR e
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(ii) Multitasking operating system

N5 WoAEne oRw

(iii) Multiuser operating system

NFoeeeT ToAEne e

(iv) Multithreading operating system

oraf: wsiicaitg e

(d) The program that is used to view a
webpage is known as

@IS OB TIee IS F< AN
Qi 2|

(i) Search web
56 &R

(ii) Search engine

516 2f&

(iiij Web browser
(@R TR
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(iv) HTTP
«2p, o, o,

(e) The computer network which is
confined within a small geographical

area is known as

qo] ¥ SN Twae Higgm FTHe

F5IE GO QT = |
(i) LAN
@ -
(i) MAN
20
(iii) WAN
&

b Y

(iv) Internet

O
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2. State whether the following sentences are
true or false : 1x5=5

Sore Al IFPTR BT (7 W8T OrEd T4 ¢

(a)

(b)

(c)

(d)

(e)

‘High Level Languages’ are machine
dependent language.

TR FTCE RIS TR T HORTN ot |

ISO-OSI model has seven layers.
ISO-OSI WifZF ASH! &3 AT |

ROM is also referred as volatile
memory.

T3 oA R e iRt =

ClipArt pictures can not be inserted in
a slide of MS PowerPoint.

MS PowerPoint-< ®i27® ClipArt-3 B2
TEEE AT IR |

A hub is a common connection point
for devices in a network.

Y T FOIE GO SRR TLazs
st 79
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3. Answer the following questions: 2x5=10

wets Al epeeT el Tel Wl ¢

(a) What is the usage of secondary memory

in a computer ?

FPTHR Wore ¢nd iRy IR & 2

(b) What do you mean by IP Address ?

IP gy Jeice & o ¢
(c) What is deadlock ?
(OoF & 2

(d) Mention two basic features of fourth

generation computers.

o (SR ITORT 707 6T I8y B
9

(e) What is a worksheet ?

AERG & 2
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4.

Answer any four of the following questions:

5x4=20

wete Al eMPTRER 7 (el 51619 Tl vt 8

(@)

(b)

(c)

(d)

Explain the functions of RAM and ROM.

@f{@@ﬁ’ﬁﬂﬁﬁ@ﬂﬁ@l

Differentiate between ‘single user’ and
‘multiuser’ operating systems with a

suitable example.

PBesie TR WS TFo2TER” FAITR Bress
TR dren [ I |

Mention the basic features of MS

PowerPoint.

MS PowerPoint< Glifeid (IARPRR Tl
1|

What do you mean by WWW ? Discuss
briefly.

WWW 3fea & 3 2 5L STt 31|
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(e) Write the differences between compiler
and interpreter.

TR SR TORIASORT Were ALy &)

() What is communication channel ?
Briefly discuss about any two
communication channels.

GRS g & 2 Ricwear 7oy CANCII Yy
Racw o v 11|

5. (a) Mention four basic features of digital
computers. Briefly discuss the
functions of the basic components of a
computer. 4+6=10
fEfeser s>{oRa 5190 CNfes ey T
3 | FTOOR GBI & SRR I 5L
AN 10

Or / 71331

(b) What is software ? Discuss about
different categories of software. Explain
the basic functions of an operating

system. 1+4+5=10

wwHed & ¢ WoeRR Rfen Rtz
SITESA 311 | SoEe BB «oR TRl I
3|
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6. (a) What is network topology ? Briefly
discuss about different network
topologies. Name the layers of the OSI
model. 1+6+3=10

FRAE T & & 2 [fon @oad oer fermz
5LE WDl F911 OS] i SIS
APTE, OeEY 4 |

Or / 73

(b) Briefly discuss the role of Information
Technology in Banking and Insurance

sectors. 10
R = N Ao B AYfET g vis
V) (€1 PR G

7. (a) What is Word Processing ? Mention the
steps required to create a table in MS
Word. How do you perform the following
in MS Word ? 2+2+6=10

IS 2R & 2 MS WordS (B3 Q3F (ST
FREA AT SRR SEd FW | MS
Words ©eTe MaPZ @Eed T>ive S 2

(i) Insert a new row in a table.

(535 @ITS B TG < TTLE A |
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(ii) Delete a column from a table.

(BFE1 QIR °[Fl Y 90! (IR 1|

(iii) Merge two cells in a table.
(53E TS oI (=51 AN |

Or / 7133t

(b) Mention the main features of MS Excel.
Explain the usage of the following
functions in MS Excel. 4+6=10

 MS ExceR Y3 WHEFHZ T@Ed | ©e10
f TIHTTIE MS Excel® IR (I 71|

(i AVERAGE
(i) COUNTIF
(iii) MAX
8. Write short notes on any two of the
following : : 5x2=10
weTe WAl & et §519 5 (B feradt 8

(@) Micro and mini computers

3T o TR FREoR
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(b) E-mail
B-CIRE
(c) File system
iz e
(d) Machine language.

A GIRIES |
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